2~3%

F

20254 7|

X #cH
XA

y

| 5715
Xtoil

7

b

| .

[

15!

S
=

[=12.|
S5E

x
o

ol X
—
A
=

ol
=

HH

X 3.2/45, 3.0/4.30|4Q1 X}

=
N

4

I
27K

&
s

AL
T
F
X+
s
Xt

—

)

121 HAk

=

2l

-

=
L=

5 0l4 of
7] A7)

2.5

k

o
[=]
=

]

o
o

I5)

22 =7t (A 271 11py)
(=]

7 12
o]

=
M Zeh(EY2) MTUF
C

SEXZg(dEH|) 508
IS

= Ol At

X
==

.I

=

=)

. X
|
(202481 2

olg seo

=]

|
WAL EHNM(

HE 28t7] ~ 45td 29}7|7}HK|

am}

s

=
=1,
C}Ol

jmm}

S / *S71%

4 Ad

J|EE O|ROX|E [FEFHE /X7

- 20~30H (0 &)

=]

o
=]

t

020243 128 162(E) ~ 2025¢ 18 6Y(

STYoo| Yo B 4

|
1 2025

L=
[
S
2

| o

A MZStALIR2(E24)

ORI e 2

= A

I:él-o
2l

($48751 E4HA| 57 EH-IZR160 -02(LIG7 B
c_|.:j

ne

E of

[=4

QA7 270 M (2 Y3)

@R ED(EE

M

C
OX]
@9

)

1
3)X|
HE=7|2

Tl
7l
4

Klo

THHEel FHM MES @A A



£2014(2024'F 113 £) FH24(govknoll N L3

Ojfu

ujr

i
0%

ur

a

)

=

=

oL

k=]
2}

|22 &t

(2023 19 &) T ME BE{A(hometax.go.kr)OliA &

= HE g obd 42, Mel of

|

Py
o
[=]

o
=

|

ne

o
> 9lo| 7Ze
c Oo=
i?moﬁHoEg

ol

1
0%

ur
4

SYAM

!

=

-
[=

T

M (20249 7|F 2~38H4)

b

=
[=]
=

oy

-_-—

B0
Klo

ki

X0

2)2025E CHst

[N
*

-

&0
Klo
ol
Kl
E
for
ufo
El

Lct.

s
ME

[o]]

A
an

A
=

g=k

F

d
=

2EC

X SHhscf.colka)Ofl A CF:

7| 500,000

+

=

-

[=]
OlAEIre| erd

1)0H

2| HIEMFR(

K
™

ok
30
jor
=0
i |

!

o
Z:):lT

I

=235
A2

A otz 7|EE T4

=

=

FRZIEs A

L
=

FEOIA A<l

ZPERE
DEEERY

X|

oF

<0

=% 87 0

H OjA O|%, ®H 35/45, 3.3/4.3 O|A tE= HH

125



| ©
=

AN

43)0
o

A
T

i
0|83t EME HAISHOF oI, 7| BlO| Fd Al

|
=

FEM 23

—

&
PYofA X 2l

=

.I

ot7] & AT =N

RPN g=1
(o =]

=

-
[=]

o

P

-
[e]

=
T

b

7
il

=

.l

x
=

H

i

)

—

=)

Sf oA X<

oMo R 38)

—-
o

T

FEAL BO(RHEE APZOl <3 CHE == o= CHN|7t

H
i

of
Al Zst HdoM R

O|Z=d7t 27ts=oll et Bt 72

50I5+8 27t

i

Pl

ud

{oF

vl

mju

NHAZ|=

3
&r
20

o

to| AYEXIY| o2t 40))

=

[=)
stol BEte L} (hscf.cokn)

- 2025 1€ 272(8)
20254 28 10€2(8®)
: 2025 2E 142(3)

A EHE

At 2E
Al
Al

£l

3

4

2
1EM 0]

=

2
Z

s

HESHY o] CHsl ot =, HTHOf CHeh RpMe| WZE A48X| 1F OfLY
2

H o
(EX 37| 11p)= FElsiA BHE Al X

St
=

=
T

i)
=

o

-
[=3

M
*
b1
(=]

@

®
@
2N HEE T SHOIX] AAE oo, 47] YE2 T AP mat HEE + AFLICL



[E1-1

H

SkAH
s =

r20259 HAMEIZ2X} Xt Cf

t

<0

(1] Z|2cH

AECEAEAE] 718 & HE s 7562 O|HO|HAM 20248= Z 2L Ho| 1002 0|4

Aalx

Hxte] xtq=, =l 449H O]

XEx4

Lol =t

STYoo| 4o BF 453 O

)X s 20254 7|

M 3.2/45, 3.0/430|A0Q1 X}

I T
T,Jg

g oly 0f

+

7| 128}

(=13
=],

H
(202483 2

2~38Hd) : A

=
18

jol’

Xae

ok

x

¢

.l

2

ST YK

ok

L

o
=

3)A

217t K]

XE, 01 B7|EE O|RojXIE (MRS SXI7IFEl M

£ AN 55 = xofl

et

020244 128 16Q(8) ~ 20254 18 6L (E)

&=t

1

=IHR el

s

Kr

(248751 HAA| B BXN2160 HMOIE|LIGT B

M= A

It @x 27| 11pt)

=
=

AN eI

OX &

QA7 270 M (EY3)

FALER2(E24)

@7 W2

of
@F| EAH(EE

GO7I5TA

®

I5)
o
=]

o
[=]

=
=

|mARO| A M(

Cto
(=R =]

)

YM(AETEA Yoz &

=
[S)

bR



22014 (20248 113 &) HH24(govknolN L3

o

ur

J4
o3

ur
<1

(20239 19 B) S HE Z=HA(hometax.goknoliM 3

o
=

|

A o=
4= 0 o EOH

ojn

J4
o2

ur
<

’ts

ro
Tl

1ok

!

H Al

gty AMEZ 2 X} StLEE A H] A (1122.cwma.orkr)Of T £3}0]

ST

APCFX}
(o=

(SH= &E) SH=l XA-HE

NietE o

A

Ll

E

]

[0}
[}

(

o254 7| 2~3%Hd) :

F

e
[=]
=

©H

il

Klo
o

Of &

[

[

2)20254 CHst
3=t gt
*0f|lH| otAX}

o
Klo

&0
i

ol
oE

ol

Klo

Al

ol

=X
*

i

or
T
|
ol
&l
{0k

i
ol

A

*

HX ofgf 7]

=

At

]

2l THhscf.cola)0llA] CI22E Rod = QIFL|Ch
Al

=
d

S8gd 7%

13|
=

7| 500,0009 2]
PYolM X<l

=

8¢
71 olROIXE rENTY

!

=

-
[=]

(8

o
a3

3)RHCHoll A

1)

£l

=

e
O

¢ HEAM

X Oj

N

OF

]

29| 87 O

3.5/45, 33/43 0|4 =&

P S|
oo

1

H ol o]

1238



S

o)

(
= 0

SOl HelE 4

71 & T FHTE =AM 2

»oF =Y0l2tE EfRIO]

(=1
=),

» ot

BAISHOF BIH, &#7] §l0| Zd Al

st EXME

=3
o

e 7

24
[

ol o
=

oK

)

Of(RHEH AMHOl ofdf CHE Z2aMe =z iN7ts

EAl

b

H
[

of

Al

7
(=

0

u

1o
8l

50IF+8 27t

CH& oA R <l

Rt

of mat et 7|

!

-
[=]
o 4o

=

O|F+3]7t =7t

ok

ok

ool M A<l

s

A

jor
1ok

o
oll

Moz 518)

-
[=]
T

ajo
R[e]

od

{0l
o-

&0
A

o
i

30

ud

foF

xd

i

©l
4

NHAPZ|E

OfL|Z}

HH
Y

o .
HES Sl

[m]
x

HEZ 2R A oishs

20254 18 27¢(8)

At EHE -

A
A

s

==
T

1

A

@

22 MEX 1% ol

gl

4 E SR THofl CHS 2rot
(A 27| 11pHE HElsiM HE A| X|&

S A
HS

& @
ol ol
o <
ot offl
[ VI aN|
i |
mn LN
Al N
o O
[V aN|
=
o g
= <k
N3
o0 Ko
o
¥ KO
® @

H

o4

Hetel Y=o et 2o))

[}

XZ0 gEE T SHOIX] AN odolH, 7] Y™2 T APEo mat HEE = AsLch

ol REEZILICE. (hscf.cokr)

oI



